Phys 231 2021

Lechre 36

MW%J

Toes: 1

Huldloqfn otom  rocual waue uchon

Solh‘flﬁ tha mgw(w Pari‘ A He derb’au’/@%r aguehiom qave soluhens
Con&Wcu'néd be(

oz, ~ s AR

me= -4£, -0 1,.../14)1,

Then e  takial  part of e TISE beconas:

é_ Z Q{_P\ 4 _‘T\Lﬂ{ﬂ“) _ __l él B
(r dr} ?Me’rl R 4?60? R‘-EK

e solukions will 6(-&&”% d-(}w\o( on A, Thoe ae g,e/mraf techaigques Hor
SOlUI'nﬂ Sele 2quahons We mﬁm‘kﬁﬁ reqw}e bt ¥o  soluhu a(ecag

as a0 A P"OM"SIWTS candidale 1§ e_t%ma’f, We  will see
b  soluhens have ¥ form

R(m) = (poﬂnomia' in r) x € ~Veonsh
We  will Jrrﬂ g simplaa” P&ssi’o{uﬁj
REY = Ae a0

whoe A, G, G consionts



1 Hydrogen atom ground state
Consider a possible solution to the radial part of the TISE,

R(r) = Ae~"/0

where A and o are constants.

a) Show by substitution that this is a solution to the radial part of the TISE and give
conditions for [, ag and £ that guarantee this.

b) Using me = 9.11 x 1073 kg, ¢ = 1.6 x 10719 C, ¢p = 8.85 x 1072 C?/Nm? and A =
1.05 x 103 Js determine the energy in units of eV.
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